
Class-8th 
Civics ch-4 
Que1)What does the term Evolution 
refer to in general? 
Ans-Evolution refers to the process 

of development froma simple to 

a complex form and is often used 
to discuss the development of a 

species of plants and animals. 

Que2)State the two examples 
of-Arbitrariness performed by the 
British. 
Ans-The two examples are 

Sedition Act of 1870 
The Rowlatt Act. 

11:50 

Que3)What was Sedition Act of 
1870? 
Ans- According to this Act, any 

person protesting or criticising the 
British government could be arreste 
without due trial. 



Que4)What are the important 
changes introduced by the Hindu 
Succession Amendment Act 2005? 
Ans- According to this new law, sons, 
daughters and their mothers can get 
an equal share of family property. 
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Que5)How is new law introduced in 
Parliament? 
Ans-A Bill is a draft statute which 
becomes law after it is passed by 
both the Houses of Parliament and 
assented to by the President. All 
legislative proposals are brought 
before Parliament in the forms of 
Bills. 



Que6)State one reason why you 
think the Sedition Act of 1870 was 

arbitrary? 
Ans-This law was arbitrary because 
persons were arrested for a variety 
of reasons that were seldom clarified 
beforehand as well as because 
those arrested were often kept in jail 
without a trial. 

Que7)Mention some of the common 

laws that govern us. 
Ans-Some of the common laws that 
govern us are: 

1)Specific age of marriage 

2)The age at which a person can vote 
3)The laws dealing with buying and 
selling of property. 
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